Math 121 W15 TU Review

L. On the same coordinate plane, plot the points given in polar coordinates: P(2, %), Q(2, —%). R(=2,25).
Find the rectangular coordinates for P, @ and R.
2. Consider point P(3, %“) in polar coordinates. Plot the point. Find other polar coordinates (r, 8) for P
so that
ay >0 —2r<6<0 byr<0,0<0<2m
3. Plot the points given in rectangular coordinates: P(—4, —4), Q(—3,0), R(2.3).
Find polar coordinates for P, Q and R.
4. Transform the polar equations below to an equation in rectangular coordinates.
T 1
reoso =4 =3 =3 T
5. Ifz;=-1+i and z, = 1 +V3i, answer the following.

a. Find the polar form of each.

. Z1
b. Findz; -z, and
Z2

6. Suppose v=<2,3>and w=< 3, —4 >,

7.

8.

a) -2v+3w=

b) [[v]| = [lwl| =

c) The unit vector in the direction of v: u =

d) Suppose that P(—1, 1) is the initial point of v, then the terminal point Q of v is:
e) Suppose that S(—2,0) is the terminal point of w, then the initial point R of w is:

f) On the same coordinate plane draw v, w, v + w, 3v and —w as position vectors.
Suppose v = 3i —4j and w = i + 7]j.
a) Find ||v|| and ||w]]|
b) Find v-w
¢) Find the angle between v and w.

d) Find the projection vi of v onto w; find vo =v — vy

Write F, and F, pictured below in the form ai + bj, and then find the resultant force, F; + F,.
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